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a) Using public utilities as an analogy for money seems to work in many ways.  Cash held by the wealthy and not used is not free to serve the public as a bus seat paid for but not used is not available to transport the general public around.  Money cannot serve as a medium of exchange, one of its main purposes, while it is being held.  On the other hand, the purpose of money is also a store of wealth.  Money, unlike other public utilities, is in part explicitly intended to be held onto.  There are incentives for savings, but there is generally no real reason for hoarding other public utilities and not using them.  You could say that saving money is using it.
b) Voltage is simply the potential difference in electrical potential between two charges.  Amperage is the actual flow of energy from one to the other.  A million volts sitting around as a static charge can do no work in the same way that a million dollars sitting around in a bank account not being spent can produce no wealth.  “MV=PQ, where M is the supply of money, V is the velocity of its circulation, P is the price level, and Q is the real GDP”.  The author is trying to encourage the increase of V, the velocity of money circulation (analogous to amperage).

c) The author is saying that GDP can be increased by raising Velocity.
2)  
	Bank A
	Change in Assets
	Change in liabilities

	(a) After $100 cash deposit:
	Cash in Vault
	+$100
	Demand deposits
	+$100

	(b)  After $80 loan but before funds are spent:
	Reserves
	+$100
	Demand deposits
	+$180

	
	Loans
	+$80
	
	

	(c)  After $80 loan proceeds are deposited in Bank B:
	Reserves
	+$20
	Demand deposits
	+$100

	
	Loans
	+$80
	
	

	Bank B
	
	
	
	

	(d)  After the $90 deposit but before the new loans are made:
	Reserves
	+$80
	Demand deposits
	+$80


